DWE575-B2
TIPO 1

SERRA CIRCULAR 7 1/4" 127V 1800W

i
1
§
!
:
i
§

m
:
a




Posicio Peca Referéncia Type Qtde
1 N227898 CONJ. ROTOR 220V Tipo 1 1
2 N225796 ESTATOR 220V Tipo 1 1
3 N226137 PAR PORTA ESCOVA Tipo 1 2
4 145347-00 | ALAVANCA DE TRAVA DA SAPATA DWES60 Tipo 1 2
5 145344-00 | PARAFUSO SEXT.M8X15.5MMACO DWES60 "SC" Tipo 1 1
6 145343-01 | FLANGE EXTERNA DO DISCODWES60 "SC" Tipo 1 1
7 098128-90 | PARAFUSO Tipo 1 2
8 381066-00 | BATENTE DE BORRACHADWES60 Tipo 1 1
9 384127-01 |PARAFUSO M3.5X 0.6 X6,5 Tipo 1 4
10 N420180 CHAVE DO DISCO Tipo 1 1

CHAVE DE APERTO .
10 N165861 Mudou para: N420180 Tipo 1 !
CHAVE DE APERTO .
10 NOB2690 '\ tudou para: N420180 Tipo 1 !
CONJ. EIXO E ENGRENA GEM .
1 N198242 Mudou para: N219393 Tipo 1 !
11 N219393 CONJ. EIXO E ENGRENA GEM Tipo 1 1
12 N237899 CONJ. CAIXA DEENGRENA GEM Tipo 1 1
13 N100358 ANEL ORING 1.5\ MMX28.0MMBORRA CHA DWE560 Tipo 1 1
ROLAMENTO CW DW 861 .
14 60304042\ 1udou para: N150961 Tipo 1 !
ROLAMENTO DA VENTOINHA DW411 .
14 330003-64 1 dou para: N150961 Tipo 1 !
14 N150961 | ROLAMENTO 6001 LHT 12MMX28MMX8MM DWE4120 Tipo 1 |
15 NI110359 ROLAMENTO 608LHT SMM X22MM X MM Tipo 1 1
ROLAMENTO Nova Lag .
15 33000360 |\t dou para: N110359 Tipo 1 !
16 NI136311 PROTETOR DO ROLAMENTODWE6411 Tipo 1 1
17 NO084137 FLANGE INTERNA Tipo 1 1
18 N246999 | CONJ. SAPATA Tipo 1 1
CONIJ. SAPATA .
13 NI92352 -\ fudou para: N246999 Tipo 1 !
19 N086135 | PARAFUSO Tipo 1 1
20 N090570 | TRAVA DO EIXO Tipo 1 1
21 N090678 TAMPA TRASEIRA Tipo 1 1
22 N090729 INTERRUPTOR Tipo 1 1
23 N090889 | CAIXA DE CAMPO Tipo 1 1
24 N094731 PARAFUSO Tipo 1 2
25 N099101 PARAFUSO Tipo 1 1
26 N100006 | MOLA DO GUARDA Tipo 1 1
27 N100123 MOLA DA TRAVA Tipo 1 1
28 NI115554 EMPUNHADURA AUXILIAR Tipo 1 1




29 N117921 | PORCA Tipo 1 2
30 N123095 ﬁﬁﬁﬂ?ﬁ; g7 Tipo 1 I
30 N287072 | DEFLETOR Tipo 1 I
31 330005-02 | PROTETOR DO CABOELETRICO Tipo 1 I
2 330019-13 | PARAFUSO M4.55 X 19MMT20 ACO Tipo 1 9
3 330122-72 | CABO ELETRICO Tipo 1 I
35 N095539 | PRESILHA INFERIOR DOCABO ELETRICO Tipo 1 I
36 NI27730 | PRESILHA DO CABO ELETR. Tipo 1 I
37 NI68104 | CONJ. EMPUNHADURA Tipo 1 I
39 N135988 | PRESILHA DE RETENCAO Tipo 1 1
40 N157808 ﬁﬁg%f}ff O sy BTIPO Tipo 1 I
40 N450889 | ETIQ. ESPECIFICACAODWES75-B2 TIPO 1 Tipo 1 I
41 NI25106 | GUARDA INFERIOR Tipo 1 i
0 098094-13 | PARAFUSO MSX13MM T25 ACODWES60 Tipo 1 I
43 N094953 | ALAVANCA DO GUARDA Tipo 1 I
44 N146857 | TRAVA DA ALAVANCA Tipo 1 1
45 NI23103 | PORCA Tipo 1 I
47 38591504 | PARAFUSO FLANGE M5X10MMT20 ACO DWES60 Tipo 1 4
48 330019-18 | PARAFUSO M4.55 X SOMMT20 ACO Tipo 1 2
49 330045-19 | PARAFUSO M5 X 40MM T25ACO Tipo 1 1
50 33004521 | PARAFUSO M5 X SOMM T25ACO Tipo 1 3
51 330019-10 | PARAFUSO M4.55 X 9.SMMT20 ACO Tipo 1 2
52 33001945 | PARAFUSO M4.55 X 20MMT20 ACO Tipo 1 4
53 59351500 | PARAFUSO Tipo 1 I
54 NI20426 | ANEL TRAVA Tipo 1 I
55 056122-00 | ANEL O RING Tipo 1 I
56 65162600 | ESCOVA DECARVAO Tipo 1 2




